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General Instructions :
(i) The question paper is divided into four sections. Section A,
Section B, Section C and Section D. '
(ii) The question paper has 26 questions in all.
(iii) All questions are compulsory.

(iv)} Marks are indicated against each question.

(v)i Questions from serial number I to 7 are very short answer type
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questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.




(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words
each.

(viii) Question number 26 is a map question of § marks with two
parts—26A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the maps inside your
answer-book.
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SECTION-A

1. e e wsed & foe 3eht ot o wey § fosh o oed a
ETIR 1
st

OSTTe o T fohET T Tk ot ey )T 81 ehel 27

What may be a goal of landless rural labourers regarding their
income?

OR

What may be a goal of prosperous farmer of Punjab?

2. vure H afa fiend g-fefier % fog 38 saerh 27 1
YT
"tz 3eim 9 -fAfrer o forg e Saerd 27
How is over irrigation responsible for land degradation in Punjab?

OR

How is cement industry responsible for land degradation?
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ST H g1 & BT T qATH o TLH § ¢ - 1
| EPCH

Wwﬁﬁwmﬁmﬁm&wﬁmﬁﬁ
YRRl 17
How had hand printing technology introduced in Japan?

OR

How had translation proceés of novels into regional languages
helped to spread their popularity?

maﬁaﬁgm?ﬁmﬁmgm%am%qmm%? | 1

How can democratic reforms be carried out by movements?
. 198 sramedt % AN AT H Ifefen & § ‘Iarare’ it e i) 1
JHUaar

Yehin Sear & 3 nfier foramre # wiRAfEm o AT =i saren hifs|
Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe.

OR

Interpret the contribution of French in the economic development
of Mekong delta region.

‘T ofit ‘gt et % s e o2 A 1

Distinguish between ‘secondary’ and ‘tertiary’ sectors.

‘g FOMER I TE F98 iU 1
Explain the importance of ‘collateral.’
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SECTION-B

8. < Toia FoRd WeR oie @HY I Yisd Wt 1 qed ST Icq1eeh ST
17 ISR |iga sarea A 3x1=3
FHYgan
i & e @ % dem s R R | % e e @
IueTey B T8 A7 ISTE0N |fed SATEH e
How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.
OR

How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

9. ‘wlt v g el 7w fagarei s avia il 3x1=3
arora
“wirs v g 1 el i T et vt A
Describe any three main features of ‘Rabi crop season.’

OR
Describe any three main features of ‘Kharif crop season.’

10. Joferam < e st st fraaon & arefi &= # form wer < fohen
TRET? ISTE AiEd ST e 3x1=3
: T
e &t ol wifa & forg femier € ameneti &t e wfgd
T |

How had Napoleonic code exported to the regions under French
control ? Explain with examples,

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.
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11.

12.

13.

14.

15.

‘YT -STeT GURY  Heed o1 favermu Hifu)

Analyse the importance of ‘rainwater harvesting.’

SUIR 319 ‘& fagfd fFramer % iR 1 3uA R wer W TR
7 Iare wfed smen fifv)

How can consumers use their ‘Right to Seek Redressal’? Explain

with example.

felep foreprg o =evr % Sftu=niiss Wil & Heed w1 9 iR
- FraT
ST 0T o Hidl 1 heiarl G IS aTel 3R I9TET & qoi i

Describe the importance of formal sources of credit in the
economic development.

OR
Describe the bad effects of informal sources of credit on borrowers.

I g o i el (sresnt) <t s Hifv)

Explain the three components of ‘political party.’

e | ik & meequl #8187 e o wron it smen
shifsm)

Jroran
ferelt w1 & weher e Ieame (S I F@ & for fafay awgedt
I BT <l TUHT B9 A hid &7 I dfed T HR| |

Why is the ‘tertiary sector’ becoming 1mportant in India? Explain

‘any three reasons.

OR
tI—Iow do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.
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16. ““waiater § firrae & i wfia st o Hmeti @ s 98 ||
3G HYH Rl AHET 38U | 3

“Consequences of environmental degradation do not respect
national or state boundaries.”’ Justify the statement.

17. ““fordft Semaitzer 331 ® grisren fafSm=rareat o ST 391 Ueh 9= &1d @
I T oft B wahdlt 817 aehl wifed 3@ e it gfy hifsrg 3
JT9raT
‘e favrem Tt o wnfod w21 38 e o v Fifsi

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR

“Social divisions affect politics.” Examine the statement.

18. WG H S & W1E § "iganet i feufa § Fw gun gen 8, weg
aeft oft geni @ R S §17 39 e ot fageor hifsr | 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

Qg1
SECTION-C
19. ‘Ietodl srarsdl skl fova sreferae ol ®9 79 F H HHA™ SATIH A Th

F1eH fHer 37a1 1 oYl 39 e 1 fargeryor Sifsm) 5x1=5

HUdT
‘el TTdTSel % UEA ek deh WA H SN 1 &Y s sl
<l =U2 | 71 gl A11’ 39 e 1 fagergor Fifsm|

HUAT
‘Y e H IR 4 el F e W el g9 S 2l
e o 99 "asl § 38 e o favermur i)
“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR

“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.
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. OR

“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

20. 1930 ® frey <fordi =1 efq o waifauye’ o wfaa foran? ek
- Iyt 1 vl Shifsuy
| ateat
‘T YT SRR Ieg I g hifsre) e eraE StideH’
H o7t off e o werEt it wewifiar &1 e Hifsm)
Who had organized the dalits into the ‘Depressed Classes
‘Association’ in 19302 Describe his achievements.
_ OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
* Disobedience Movement.’ '

21. ifie safeafy & e swerh el afe sl & e afea
ST I |

Explain with examples any five factors that are responsible for
industrial location.

22. TEufa, aTem off wiesHiaed qeqalt & uR W afcsam i slictet

fearfa <t qer RS 1+
U

e @ FeT Y T SIE? g 9§ gEford gt #ht wrEie

i wredl it saren fif)

Gompare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR | |
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

32/1/2 8

1+4=5

Sx1=5

1+3=5

%ﬁ




23.

24.

‘s o W uftee, iauﬁaaqﬁmﬁmaﬁmgﬁwmm%l”w
<1 JaTewon |igd gfE i) 5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

ehasl o fepeal e afomet =1 &l fifs) . 5x1=5

- Describe any five outcomes of democracy.

25.

26.

Svefteror 3 fogl aie wwral =) v Fifse) 5x1=5

Explain any five effects of globalization.

WU (AHfE TH)
SECTION-D (Map Question)

(A) 31 T& A 3R B i v wra % veHifas ta-amfa § sifea
for w1 g7 wevT B fefefad s B were @ gty
3R 379 Wt A wrfs W = 78 et w fafae- 1x2=2
(a) 9% T W8T WRATT TP HH 57 A9 5371
(b) =8 TR STET SAfcriaren am i e gl
(B) ¥eli v 7o v % Tef Yar-umtem § frefafa § & B
1 ol 3ugh gl @ quriey 3R 3k A ferfa: 1x3=3
(1) heaRn - 3TvEsh el G9
(i) fosmm - e o seTa g
(iii) UL ~ TR IFT T
(iv) 9TET ~ FHE ye
(v) EER TG - &g
Frferfiaa s herer gferantern whenfefa & forg s we 26 %
o W el ute o 3 AR - 1x5=5
() 38T o A ferfla et sfrtaren aw 6 e g
(i) 35 U=g 1 M foRav srEf st 3 “Tue e’ dren
(iii) 38 T ot A ferfae sl ==’ we afa g
(iv) 39 TSy o1 AW faRae st unrdiy s e feda )
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(A)

(B)

Note :
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v) 3 T 1 A ferfa st e T 3R e s e
2 - |

(vi) 3@ U F Am fafaw e Aeen s e w
fera 21

(vil) TER Tl |ty ford ¢ W 7

Two features A and B are marked on the given political outline

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate

symbols on the same given outline political map of India.

(i) Kalpakkam - Nuclear Power Plant

(ii) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 26. Attempt any five
questions.

(i)  Name the state where Jallianwalla Bagh incident took
place.

(ii)  Name the state where Gandhiji violated the Salt Law.

(iii) Name the state where ‘Chauri-Chaura’ incident took
place.

(iv) Name the state where Paradeep Sea Port is located.

(v) Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
is located.

(vii) On which river is Sardar Sarovar Dam constructed?
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